1. Calculate the sum using only pencil and paper. —5.22+0.65

A. —4.47
B. —5.27
C. —5.47
D. -3.57
E. —4.59
F. -4.6

G. —4.57
H. —4.56

2. Use the commutative property to rewrite 7 + 9
A (443)+9
B.3+(4+9)
C.(449)+3
D.(3+4)+9

E.9+7



. Calculate the sum using only pencil and paper. —3.46+14.25+(—11.86)
. —0.37
. —1.09
. —2.07
. —1.05
. —1.07
. —0.87
. —1.67

. —0.97



. The property that says (5+7) +9 =05+ (7+9) is the property of addition.
. distributive

. multiplicative

. commutative

. associative

. Calculate the sum using only pencil and paper. 44+13
. 61
. b7
. 54
. b5
. b8
. 60
. 62

.47



. Calculate the difference using only pencil and paper. %—(—%)

ool

. Calculate the sum using only pencil and paper. —1.7843.0941.65
. 3.36
. 3.16
. 2.46
. 3.26
.2.93
. 2.96
. 2.36

. 2.66



